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      Max. marks-70

                                   This question paper has four printed pages and three parts.

PART- A

Answer any six questions.
   




 2 x 6 = 12
1. Calculate the atom efficiency of the following  catalysed reaction.

Ph-CH(OH)-CH3 + ½ O2 → Ph-CO-CH3+H2O

2. What are the disadvantages of microwave heating?

3. Give the steps involved in a chemical reaction by ball milling?

4. What are the restrictions on one pot synthesis?

5. Explain Darzen’s reaction using a suitable example.

6. How would you bring about the following conversion?
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7. Write the mechanism of Meerwein-Ponndorf-Verley reduction reaction.

8. How is the following compound prepared using Mukaiyama condensation reaction?
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PART B 

Answer any four of the following questions.



12 X 4 = 48      

9. (a) What are the desired properties of polymer supports? Draw the structure of Wang resin.

(b) How do you use type I polymer support reaction for the synthesis of oligosaccharides? How is this method superior to conventional method?

(c) Identify A, B and C in the following reaction. How do you use C to prepare an alkene?                                                                                   
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                                                              (3+4+5)         

10. (a) What are triphase catalytic reactions? How are they classified? Give an example for each type. 

(b) Give the advantages of phase transfer catalytic reactions over conventional reactions. What is the nature of nucleophile/anion in the presence of a crown ether? 

(c) Complete the following reactions.
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                                                                   (5+4+3)
11. (a) Explain the choice and the effect of reaction medium on microwave mediated reactions.

(b) Complete the following reactions done under ultrasound conditions. In each    case suggest a conventional reagent.                                                          
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   (c) What do you mean by ‘template
effect’ for the synthesis of crown ethers?

Give the synthesis of a cryptate. Between a cryptate and a crown ether, which       is superior in it’s ability to complex metal ions?

(3+3+6)






12. (a) Identify the reagent(s) required for the following reaction.
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b) How will you synthesise enantiomeric excess product using the following reactions?

i) Noyori reaction ii) Mitsunobu reaction

 Explain the mechanism using a suitable example each.


(3+9)
13. Using a suitable example each, write mechanism of the following reactions. 

a) Woodward hydroxylation

b) Mc Murray olefination reaction.

c) Hofmann – Loffler – Freytag reaction

14. a) Write the structure of the major product(s) formed in the following.  
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b) What is Sharpless asymmetric epoxidation? Give an example. Explain the role of each reagent used in the reaction.





(6+6)
PART C

Answer any two of the following questions.
  


5 X 2 = 10      

15. (a) Stabilized phosphonates are used in Horner-Wadsworth-Emmons reaction. What is the possible by product formed from this reagent? How would the formation of this by product affect the successive reactions/equillibria while using one pot synthesis strategy? Suggest any two ways by which you can solve the above situation.

(b) Fill up the blanks: Ball milling is limited to liquids and low melting solids     which can form ------- under ------- conditions.                                        (3+2)



16. (i) Name the following reactions and complete them.
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(ii) Bring about the following conversions.
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                                                                                                     (2+3)
17. Propose the synthesis of compound I by Mannich reaction and compound II by Robinsons annullation.
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                                                      …….End of questions….
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